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Kittelmann_PO2_017A
(x,y,Y)u=(0,33, 0,36, 18)
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dY=A1[1+A2/A1Y]

xr dYn log Y
−1.0 0.25
−0.5 0.75
0.0 1.25
0.5 1.75
1.0 2.25

Sn=dYCIELAB/dYJND=6.6

−1.0 0.026 0.25
−0.5 0.057 0.75
0.0 0.124 1.25
0.5 0.268 1.75
1.0 0.578 2.25

[dYn]/dY
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A2/A1 = 0.106
A1 = 0.0391 A2 = 0.0041
A3 = 2.507 A4 = 0.556
Kittelmann_PO4_068A
(x,y,Y)u=(0,33, 0,36, 18)
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dY=A1[1+A2/A1Y]

xr dYn log Y
−1.0 0.25
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0.0 1.25
0.5 1.75
1.0 2.25

Sn=dYCIELAB/dYJND=7.2

−1.0 0.024 0.25
−0.5 0.052 0.75
0.0 0.113 1.25
0.5 0.245 1.75
1.0 0.528 2.25

[dYn]/dY
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A2/A1 = 0.0986
A1 = 0.035 A2 = 0.0034
A3 = 1.141 A4 = 0.853

A5 = 0.2362 Kittelmann_PO5_392A
(x,y,Y)u=(0,33, 0,36, 18)
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dY=A1[1+A2/A1Y]

xr dYn log Y
−1.0 0.25
−0.5 0.75
0.0 1.25
0.5 1.75
1.0 2.25

Sn=dYCIELAB/dYJND=8.4

−1.0 0.02 0.25
−0.5 0.045 0.75
0.0 0.097 1.25
0.5 0.209 1.75
1.0 0.451 2.25

[dYn]/dY


